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2. Attempt all questions.

3. All questions carry equal marks.
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be used throughout the paper.
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r. Err yrFr-c? + ffi * u.ri frS rN frufftd ra{H Tt ifis a-1F,cr6- ftft<V t

2. qS qr{dftg r

3. <S e{ft + irq, qqr< S r

4. Err cFr-rrd 6r 3-f,r s+ft qr fift ffi f'6- qrqr t €frs, efr-{q!ft Tf,t- 6I ]IraFI Vt6

ff*+qrBsr

ErJr A

I (a) "Wealth maximization is a better criterion than profit maximization." Do you

agree ? Explain.

(b) ABC Ltd. has the following capital structure :

P.T.O
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Particulars Amount (Rs.)

Equity share capital ( 1,60,000 shares of Rs. 100 each) r,60,00,000

l27o Preference Shares 16,00,000

10% Debentures 24,00,000

The equity shares of the company are quoted at Rs. 110 and the company
is expected to declare a dividend of Rs. l5 per share. Rate of growth of
dividend is 8%, which is expected to be maintained.

(i) Assuming the tax rate of 40oh, calculate WACC using book value
weighs.

(ii) The company wants to raise the additional term loan of Rs. 20,00,000
at l\yo. Calculate the revised WACC assuming the market price of
equity shares has gone down to Rs. 105. (5+10=15) '

OR

(a) "Financial Management is concemed with the solutions of three major decisions
a hrm must make." Explain this statement highlighting the inter-relationship
amongst these decisions.

(b) XYZ Ltd, has the following book value capital structure

(Rs. crore)

Equity Capital (Rs. l0 each) l5

l2Yo Preference Capital (Rs. 100 each) I

Retained Earnings 20

11.5% Debentures (Rs. 100 each) l0

lI% Term Loan t2.5
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The next expected divided on equity shares is Rs. 3.60 per share, the dividend

per share is expected to grow at 7%o. The market price per share is Rs. 40.

Preference stock, redeemable after l0 years, is currently selling at Rs. 75

per share. Debentures, redeemable after 6 years, are selling at Rs.80 per

debenture. The-income tax rate for the company is 40%o.

Calculate the weighted average cost ofcapital be using (i) Book value weights

(ii) Market value weights. (5+10=15)

(6' ) ' ,r+ i[k6.ilQ-6{sl, snr sDrrrftm..pr + q-6dr fi-6q +dr I r " wr src {s+ T6{d

t r qrcaqr dfrq r

(€) ABC ftRls d tft lr.+<r ffitu6 };

sH+dMi+t tto{. l3q.l-cl+ sfuffit ts t vR*q{d'rlfsrAR(

frs vr+ d u+q * r enqnr d Ek qt 8% i ftrs+ Efr ,r6.R s+.6+ d ilEn

tsr

(i) qr A ft.qr q< 40x t r g-+' Aq. rnt 6I c+q 6{+ wACC qr cF6-tr{

dfus r

(ii) m'{ft t0% qr 20,00,000 (. 6r irfrfrfi i{rqfu+, Err +<r qrafr i r qr

qr++t fr {ffi *qit- d crqR *rd Eq 61 105 t * rr{ t, T{tkd
WACC qr qfr+eq dftq t

E={<l7 ffi,(t)

ffi Act {fi (roo ,r. sr+ r,oo,ooo +{r) 1,60,00,000

12% sftqr{ +{t r6,00,000

toXBlqt 24,00,000

P.T.O.
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BI2ItII

(c,) 'ffia c-srr 6T {il+'R q,,,{ * fi-o Sq frolrit + <qnm t I r, qs 6.T{ d
Enerr, E{ ftdfr + iffi: ffir * ee qtt Eq dfrq r

(€) xYZ ftfras d Tq, ag.tft {.inr E€ yon i :

q.tc{d

{kA tft 1to t <r& *+t; 15

12% sr* ilfuc'T {ff lroo t <r}; I

cfunRd ffra

u.5% sr+ G+a( (loo d qr}) 10

tt% Brrqfus ae{ t2.s

errrar c-grRre drqpr ffi ffi- qt 3.60 t cft +q.t t r yfr *cr artrpr * qa+-t

7% A+fr $rfl t r yfr +q-t qrmR *{n +0 r i r to s{ Erq cR+c ilfucr-{d+'
g<T rFFr 75 t cfr +{r + Bsrs + &-m. ra I | 6 s{ qrq sRaq €+d{ 80 F. cfr
Eaan fr q< q{ R-q, 61 } 1 otrfi * fts i{rq sr d qr 402 t r

fS d qrtd stffi ar{rd 6l qft+-tr{ ( i ) g-*. +q. lrrt ati ( ii ) srqr {s rrrt d
Ek*dfrvr

AC Ltd. has just installed Machine X at a cost of Rs. 4,00,000 having a useful

life of 5 years with no residual value. The annual production is estimated at

1,50,000 units which can be sold at Rs. 12 per unit. Annual operating costs are

estimated at Rs.4,00,000 (excluding depreciation) at this output level. Fixed

costs are estimated at Rs. 6 per unit (excluding depreciation) for the same level

of output.

2

20
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The company hasjust come across another machine Y having same useful life and

capable of giving same output. Annual operating cost is expected at Rs. 3,60'000

(excluding depreciation). There will be no change in fixed cost. Capital cost of

the machine is Rs. 5,00,000 with nil residual value.

The company can sell the machine X at Rs. 1,00,000 but the cost of dismantling

and removal will amount to Rs.30,000. The operations with Machine X have

not yet started and the company wants to sell Machine X and purchase Machine

Y.

AC Ltd provides depreciation under straight line method. Assume corporate tax

at 40%o. The cost ol capital may be assumed al l4o/o.

(a) Advise whether the company should opt for replacement.

O) Will there be any change in your view if Machine X has not been installed

but the company has to select any one of the two machines. (15)

OR

RS Ltd. wants to replace its labour intensive manufacturing facility. The company

is evaluating a project to install a machining system. It is estimated that system

will result in annual saving ofRs.4,50,000 in wages, Rs. 1,50,000 in supervisory

cost, Rs. 50,000 in material losses during production, Rs.40,000 in-inventory

cost and Rs.30,000 in other operating costs.

The machining system is likely to cost Rs. 7,50,000 and will require an installation

cost of Rs. 50,000. Its useful life is estimated at 5 years. To operate the system,

the company requires the services of two trained operators at an annual salary

of Rs. 1,50,000 each. Its annual repairs and maintenance cost is likely to

Rs.40,000. Assuming corporate and capital gains tax rate uniformly at 35%o and

the required rate of return at 12o/o, it is required to calculate :

P.T.O.
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(i) The relevant cash flows of the machining system

(ii) Payback period

(iii) NPV

(iv) The relevant cash flows, payback and NPV assuming the machining system

can be sold for Rs. 50,000 at the end of 5 years when its book value is
supposed to be zero.

(v) The relevant cash flows, payback and NPV assuming that the depreciated

book value ofthe system upon termination at the end of fifth year will stand

at Rs.50,000. However, it will not fetch anything i.e. its sales value will be

zero. (15)

ac ftftls t Erd ff d a,oo,ooo t d arrra w x rft{ + {qrR-d frqr t ffi Jq+ff
i{rg 5 s{ I atr u-qFr€ 1ic qu I r <t rnirF{r senq;r $({r;riT: 1,50,000 {R-c fur
frrt tz t xR $-c + G'srd t *qr qr t-*m r gS Jflre'r trr qr qfii6' y-qre-r arrr+

3i-{qn-(: 4,00,000 r (qq q{r{ * ft-6.r-d 6'r) ilrfff r Efr ysrcr wt qr e{rff drrr+

ir{qrfi: 6 t. nfr {+e I ({g e," fi-qm m<) r

*'rft+V*, iltrqfi-{ y?t* i ffi sc+ft iilg rflr+ *tfr vqmyere,rt}fr
errf,r {€& * r Wfr yqeFr Hrrrfr 3,60,000 e a+ fr sr$ e ({€ qnr +l ds qir) r

Rne drrRn- n +€ cR{er a-fi *rn r qfi-+ fr {frrr< errm 5,00,000 r i qt ir{Fr€

{fl{rq+ r

oqft x qrt-td 1,00,000 r i +s{-*-fr e.rcg Es-+ 5fr d rorreit *rrqrt Ea+
q{ 30,000 \. €{ *t r q$-< X qr eircm u$ E+- {6 {& ftlr rrqr * *t offi gt qfi-{

x A +{ +{r qra.ft * *i qfi-{ y * rsfl-nr qrrfr * r

AC frfrlc ffift tqr ftfu t T1 q<rt fr <+en o'rfr I r qr{ A fr qtrff qt 40% * r

{ff d arr< s+ rt t+x qrrr+,i i r
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(a') rera afrs ft RI 6H d vfrenq-+G-+-fr * elq{r +{r qGq r

(€) snc* G-qR i wr *€ qR+{q i urcrn qR x qfitd effit r& fter rar t v{g

ffi * g< a qffi- n t ffi \-6' Eil Erqr A I

RS ftfr)s qsft qrq-qq{ trq {ftn * vftenR-a q-c+ qrrft i I qffi \16'qfi-{

c"r-fr 6] reirft-d q-,r+ d cRctd-{r ql rsi+-+ qt <& t r tsr a-{qm t ft E{ cq-fr +

qfit*. 4,50,000 r d q+t qsqRfr i, t,so,ooo flrGI d. fr qR+epl arm l, 50,000 E

d rtqre+ * drr.r qrrft d rrft t, 40,000 t d cld{ff ar.rt t e}t 30,000 t d orq

v-qrcr arrrfr I q{fr *rft r

qli-< cunft fr Errrd qrrtrd: 7,50,000 t t *t qcd rsrR-o qG d arrn 50,000 a. * I

E<-6 sc+fr r-+nRd sng 5 q{ I r Es cqrfr * c-qrm{ t ffi A a cRfFd c-sn-+t

m +dr$ qft srs{Tm-dr *ft fui-{,r *et t,so,ooo qR qk ait I E(fr srF6' wqd

*< rc+rcqn d arrro rnrqe: 40,000 \. *fr t qa qrt qr fr tfi-s{ dt (ft{rd drq 6t

\6'{IrFr w t ssx + ft srB-d vRFd Et tzx * r qRm-c+ frfrq:

(i) q!n{ crnft 6r wrd t6s e-{r6

(t) fur<mEAd q-qtu

(iii) NPV

(i") {rrd tsg c-sr6, +fi qrrs ft Npv T6 qm6r fu qfl-{ cunft ufr so,ooo t {
5 s{ crqrd }qr qr q6-dr * u-s EEff g-*. aq.{q d vffi I r

(v) rirro t-+s rer6, +sr elcfr d{ NPV q6 qrq6"t fti ffi- ua + ird { c"nft fr
{q qtkd go. iq so,ooo t d,t r ar{fr Et} +{ crfu {ft *t acrt g{6r

ft-ft{sE<m*m r

P.T.O.
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(a) What are similarities and dissimilarities between NpV and IRR ? Which of
the two methods will you prefer when they give different ranking of investment

of proposals ? Why ?

(b) A textile company belongs to a risk class for which the appropriate p/E ratio

is 10. It currently has 50,000 outstanding shares selling at Rs. 100 each. The

firm is contemplating the declaration of Rs. 8 dividend at the end of the
current fiscal year which has just started. Given the assumptions of MM,
answer the following questions :

(1) What will be the price ofthe share at the end ofthe year (i) if dividend

is not declared (ii) if divided is declared.

(2) Assuming that the firm pays the dividend, has a net income of
Rs. 5,00,000 and makes new investments of Rs. 10,00,000 during the

period, how many new shares must be issued.

(3) What will be the value of the firm (i) if dividend is declared (ii) if
dividend is not declared. (5+10=15)

OR

(a) Define cash flows. How is it different from profit ? Explain the superiority of
cash flows in investment decision making.

(b) The following information is supplied to you, about LK Ltd. :

Eamings of the company

Dividends paid

Number of issued shares

Price earnings ratio

Rate of return on investment (%o)

-

Rs. 15,00,000

Rs. 5,00,000

1,00,000

t0

l5
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(i) Determine the theoretical market price of the share as per Walter's

Model

(ii) Are you satisfied with the current dividend policy of the firm ? If
not, what should be the optimal dividend payout ratio in this

case ? Find out the price of the share at that dividend payout

ratio. (5+10=15)

(<.) Npv *r mn n wn-dr{ *{ sffirc-dr( wr I ? F+ t 6tTs i frftri d mq

!ft dn ils ft.i Fr.T Efr * fr*qr vRrE * q-dqq d ?

(<) vo2w-crroffi*R{cq.tnqrfudAftr<+ftvog< P/E sr{crd 10* tE{

{qq Eff+ qnr 50,000 <+rqr *cr i * too dw cR + frsre t R-6 {6+ i r s{
qq<ru-+1ftc s{ fr rrqrft qt a t. * anmr d *qun 6{+ m +s {& * iil s{ flrt

g6 ${ + r MM + o{Fra-& + sruR rR ffifu( rri * ro< flfts:

(i) s{ + ir-d + +{r fr *{d er *ff qR (i) ffi'rr *R-a q frqr qrs (ii)

drlil{t iR-d q{ frqr vrg r

(ii) q-a qrr+< ft s{ EFIM +fr *, {q-+1 fi-c-d orrq 5,00,000 t. * sfu Eq qsE

{qe IO,oO,OOO!'.i ;rqrft}wq'rft*; a-dnsfrffiagqo1 q1 qola

qr;Ir qrBs 
r

(iii) m{ or 1* er *m vfr (i) aFlrsr *R-o qt frqr vrcn t (ii) dt nvr *R-d

<fr ftqr urrr * r

gt?ltlt

(a) t-+-s rcn d qft{qr afrq r fltr t q6 fr{ r6R ft-{ Ail * ? ffan d} ftutfi

{ t-+s e-qr6 d sfl{dr d ansr dftg r

P.T.O.
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10

(te) LK frftls + Eft q flrq-+ ffift<-d qa-<r( ff rr€ f :

EhH + snreM
a

Tfl Fnanrr

futh-d M fr{qr
*r-e ar+ rlvrr

frfu qt cfr$-d fr <t (%)

15,00,000 r'.

5,00,000 \.

1,00,000

l0

15

(i) sret frco * eIsR +ql m fufuo'qrmR *{n qir ftqftq dfrq I

(ii) Hr arc u''{ * dqlr i{rrrur fiR + q-Eq * ? qR r& d rs +{ { Esnr
amu yr<rt qJqrfr Rr +{r qRs ?

gs F{Flt{r Srrdr{ 3l-{cld vt t{{ fr frro a|( iifrq r

(a) How does Gordon's Model differ from Walter's Approach to relevance of
dividends ? What are their similarities ?

(b) The cost sheet of PQR Ltd. provides the following data:

Cost per unit

Raw material Rs.50

Direct Labour 20

Overheads (including depreciation ofRs. l0) 40

Total costs lt0

Profits 20

Selling price 130
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You are required to prepare a statement of the working capital needed to

finance a level of the activity of 54,000 units ofoutput. Production is carried

on evenly throughout the year and wages and overheads accrue similarly'

State your assumptions, if any, clearly. (5+10=15)

OR

(a) Explain stable dividend policy. What is the significance of stability of
dividends ?

(b) X Ltd. currently makes all sales on credit and offers no cash discount. It is

considering a Zoh cash discount for payment within l0 days. The firm's

curent average collection period is 60 days, sales are 2,00,000 units, selling

price is Rs. 30 per unit, variable cost per unit is Rs. 20 and average cost per

unit is Rs. 25 at the current sales volume.

It is expected that the change in credit terms will result in increase in

sales to 2,25,000 units and the average collection period will fall to 45

days. However, due to increased sales, increased working capital

required will be Rs. 1,00,000. (It does not take into account the effect on

debtors). Assuming that 50Vo ofthe total sales will be on cash discount and

20% is the required retum on investment, should the proposed discount be

offered ? (5+10=15)

P.T.O

tt
Average raw material in stock is for one month. Average material in work-

in-progress is for half month. Credit allowed by suppliers: one month; credit

allowed to debtors: one month. Average time lag in payment of wages is 10

days; Average time lag in payment of overheads is 30 days. 25o% of sales are

on cash basis. Cash balance is expected to be Rs. 1,00,000. Finished goods

lie in the warehouse for one month.
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(r<) x ftft2s Es tcc {rt Rfrd sm q{ o'''fr i *{ tm-s {gr +fr A, qE l0 fr{ +
tt-dr Brerrff * fts zx +m-s qgr i+.R frqn qt € * r q'{ d dq-fi qqrrq-6

irsft 60 ft{ fr + r Rffi zoo,ooo $-& * e, k6q frrd :o t vfr rrftc l,
qR*ff er.ra zo t cR {R-c f *r {Wr ft-"q qrkFr q{ *ec arrra cR AAe

zs t infft r

t& orm qt urft .* fr *B.c fr uaT + qR{d{ +,r-ossq ffi i Ek z,zs,ooo

tfta * +fr d{ ii(d tn-6 srq& Ee 6{ 45 F{ A urvft r aqrfr, ffi + Tm
d* * qnq, s*d 6r{fi-d {ff t,oo,ooo t *rft r (zre ffi 'n cqn d ilc+

ftqR + Te tft l) r 16: nFF6( fr W R-ft 6I s0% +69 qi qt *ft *< frisr

q< ffi-e cfts-d 20% *rn rsinsc fr er x+qlft-{ qa fiqr unr qrG'q ?

5. (a) What are the factors affecting the cash needs of a firm ?

(b) The capital structure of Z Lld. consists of35,000 equity shares ofRs. 100

each. The authorized capital of the company is 60,000 shares. For the financial

year ended 31.3.2016, particulars of production, cost and sales are as

follows :

50,000

Selling price per unit Rs. 20

Variable cost per unit Rs. 10

Fixed operating cost per unit Rs. 4

In view of emerging opportunities arising out of globalization, Z Ltd. decided

to utilize full capacity to meet the additional demand for its product. This

would however involve an additional capital ofRs. 15,00,000. As a result

of utilisation,of full capacity, variable cost will be reduced by 10% but fixed

cost will go up by 10%. The additional outpui can be sold at the existing

P.T.O.

Units produced and sold (@ 80% level of activity)
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selling price. The possible alternative sources of finance for the required
additional capital would be

(i) entirely by equity shares ofRs. 100 each

(ii) entirely by 6% bonds of Rs. 500 each or

(iO 50% by equity capital and 50o/o by 6% bonds of Rs. 500 each.

Assuming a corporate lax of 40yo, which of the altemative financing scheme

do you recommend ? Also, calculate all the leverages and comment.

(s+ l0:15)

OR

(a) Explain the factors having a bearing on working capital needs.

(b) The existing capital structure of RST Ltd. is as follows:

Company earns a return of l2o/o and the tax on income is 40%. Company

vr'ants to raise Rs.25,00,000 for its expansion project for which it is

considering following alternatives :

Amount (Rs. lacs)

Equity shares (Rs. 100 each) 40

Retained Eamings l0

9oZ Preference shares 25

77o Debentures 25

Total 100

(i) Issue of 20,000 equity shares at a premium of Rs. 25 per share

Particulars
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(ii) Issue of sufficient number of l0olo preference shares

(iii) Issue of sufficient number of 90% Debentures

Projected P/E ratios in the case of equity, preference and debenture financing

are 20, 17 and l6 respectively. Which alternative will you consider to be the

best ? Cive reasons for your choice. (5+10=15)

(m) s'{ fr tft{rd ifllrlrr.rrn-dr q1 eqrE-d 6i+ qrA Er.fi @r * ?

(te) z ftfrLs fr tft rcqr q I 00 r. sr} 35000 {ffi ++t I r qq$ fr qEr5e {ft
66,966 fuit- * * r rt.:.zoto d wqr< gq Gtrq s{ + fts t-f,ile;T, nnltt, *r
ffi + fi-qtur gr n+n *,

$d AqR m.r{ *: +S.ri ({fr{dr * sox Ri d <r +) 50,000

fr'frq fr{d vft qR-c 20 r.

cft{ff aFrd cft qn-c 10 r'.

reirfr nqrcr arm yR qR-e 4r.

ffifiq * qnur rtrq r+{il dt H Es z ftftes i 1ft errar q.r E+{rd 6li
Er fr{qqfrqr t ilfr.B{-+Tflrd +fts BrRftffi.nr m fffid urcd raqrR

ssi ts,oo,ooo t d sRk tff d+e r urftr $ erq-ar t q-<i * qfurmecq

qffi drrrd 10% 16rr A ilvff cig e{rfr Frrqrt l0% sq urvfr r uRk Tflrfi
* fu<r fr-sq frq-d qt *qr vr t-o-m * r srftft< (fr d srnrq-o<r * ftq trflR-d

+6tu€ +d+;:

(i) X&, 100 d sre ffi iqt aRr

(ii) tdr, 5oo e. sre 6% dil er<r

(iii) 50% {E{& {ff *t sox s00 F. sr+ ox di am

q6 rrFrnr ft ffi 6t 40% *, inq fu€ ffi{+ffir fr ffisr +tt ? mq ff
qrft rqrlr+ 61 qR6fi dfrs ft Eqft dftq r

P.T.O.
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St9I?TT

(*-) odfi-a {ff m antrterfr * sqrft-d c<+sr& ol.+l fr qnqr dftg r

(€) RSr ftfras m *Wr tftqa ycq<r ss y-+n i:

qtrft tzX cfrs-f, irffid 6lft i ft 3{-ff qrc qr 6-( 40% + I 6ffi Brrfr trRrt
qRqtq-{r + ftq 25,00,000 d E6-ET rrrcil qr6ft t ftrff+ fts q6 ffiR{d ffi-
.n ftqn qr t& t:

(i) zs t nft*+t ffft+t rR 20000 ffi iqd- d qrt qt r

(ii) vd< rnr t to% sft{Fr m- * urt of r

(iii) csiq qrar i sz CH- d qrt of r

tM, rfuc'r *t tya. anr ffi+t * +{ + r&R-d p/E ir{crd i6rTrT. 20, 17

*< to ts r qrc fr-{ ft-s-fl * as+ q-6r llq} * ? ilsfr q{-{ + fts 6r<or Eqfr

dfts r

ft-fiur rFr (arc r. fr)

ffi +qt (roo r ari) 40

cfunRd sA 10

9% olfuqr{ +{t 25

7% ft+qi 25

dB 100

(8soo)


